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Part-1

=

i ARITHMETIC : 10 Marks

Instructions: Each Question under this Part carries One mark. Please read the questions carefully and
answer them by selecting correct answer out of the multiple answers given below each as A, B, CandD.
There shall be negative marking @ 0.25 mark per question for wrong/multiple answers.

1. Which number should replace both the ‘¥’ s in (I*é X (-1%) =17

() x () =160 cad awid age. *'Q A9 ceralde ?

(A) 18 (B) 54 (C) 162 (D) 2916
2.1£/5625 = 75,then find the value of V5625 + Vv56.25 + +/0.5625

a6 V5625 = 75 @V, 6862 V5625 + V56.25 + V/0.5625 Q (JaH 6066 7

(A) 56.25 (B) 832.5 (C) 8.325 (D) 83.25
3. The H.C.F. of two numbers is 9. Which one of the following numbers can never be their L.C.M.?

Qa6 et 6-alg 9 2o IARGe aoeigha Au1q 66616 6a0IAER A6 621RCIGe Q1T ?

(A) 36 (B) 54 (C) 66 (D) 81
4, Find ihe e of 0.67 X 0.67—2X0.67%0.524+0.52X0.52
0.67—-0.52

0.67 X 0.67—2x0.67%0.52+0.52X0.52
0.67—0.52

(A) 0.15 B)1 (©) 1.19 (D) 0.30
5. Of the three numbers, second is twice the first and is also thrice the third. If the average of the three
numbers is 33, the largest number is:
561G cratil FiQ Qotel ePeIT gelnl UeMIQ QRgel Ua° Qo1d, relia HAQE 26e | 96 G6RIT eetia Q1A 33

Q FIRY 6960 7

QY. 6069 QQAN! CPEHIT €a6o ?
(A) 18 (B) 27 (C) 54 (D) 81
6. If the side of a square is increased by 40%, its area is increased by:
a8 celdY adcEeq Q199 @eael 40 98 QAICIY, 696Q VIR CHRHR 6a60 98 €ae ?
(A) 100% (B) 96% (C) 80% (D) 60%
7. Two numbers are in the ratio 4:5. If 24 is added to each number, the ratio becomes 6:7. The sum of the
number is:

G;@@ QreHIQ 2ARdIe 4:5 e | 90 geeie asiieq 24 6didl @IV, 606 AR 6:7 QY | 6o6@ Qail @@@Q

CAIGIRR 6960 ?
(A) 81 (B) 90 (C) 99 (D) 108
8. A grocer sells rice at a profit 20% and uses a weight which is 20% less. Find out overall gain percentage.
Qcal CoRald CalaIn dea0l 20 AIGEA 91aR 98 9a8 Ve deasl 20 af 6Gee &l acaal 1egl 08 | 606a

AQEAIG GI0R0I 6R6S RIQ 629 ?

(A) 50% (B) 40% (C) 30% (D) 20%
9. A man takes as much time in running 16 metres as a car takes in covering 64 metres. The ratio of the
speeds of the man and the car is:

cQlIY @lQ 64 FAeQ AFQA @aIg CI6E Ang, 7Y, acel 98 16 foq 2090 @hQlg caoa anq, Fug | €6 dQs

YQ° @loQ 66l 2gdle 6R6Q ?
(A)2:3 (B)4:1 C)1:4 (D)3 : 4



